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çÙÎðüàæ	 Ñ	 (i) 	 ÂýàÙ ·ý¤×æ¢·¤ v ßSÌéçÙcÆU ÂýàÙ ãñUÐ §â×ð´ ¹‡ÇU (¥), ¹‡ÇU (Õ) °ß¢ ¹‡ÇU (â) 

àææç×Ü ãñ´UÐ ÂýˆØð·¤ ¹‡ÇU ×ð´ z ÂýàÙ ãñ´U ÌÍæ ãUÚU ÂýàÙ ÂÚU v ¥¢·¤ ¥æÕ¢çÅUÌ ãñUÐ ÎëçcÅU 

ÕæçÏÌ çßlæÍèü ÂýàÙ ·ð¤ âæÍ çÎ° »° çÙÎðüàæô´ ·¤æ Öè ÂæÜÙ ·¤Úð´UÐ

Instructions	 :		 Question No. 1 is objective type question. It consists of Section (A), 

Section (B) and Section (C). Each section has 5 questions of 1 mark 

each. Visually impaired students follow the instructions as given with 

the questions.

		  (ii) 	 ÂýàÙ ·ý¤×æ¢·¤ w âð { Ì·¤ ¥çÌÜƒæé©UîæÚUèØ ÂýàÙ ãñ´UÐ ÂýˆØð·¤ ÂýàÙ ÂÚU w ¥¢·¤ ¥æÕ¢çÅUÌ ãñ´UÐ 

(ÂýˆØð·¤ ©UîæÚU ·¤è ¥çÏ·¤Ì× àæµÎ-âè×æ x® àæµÎ ãñU)

	 		  Question Nos. 2 to 6 are very short answer type questions. Each 

question carries 2 marks. (Maximum word-limit of each answer is 30 

words)

Name	 : ................................................................................................................................

Roll No. : ................................................

·é¤Ü ÂýàÙô´ ·¤è â¢BØæ Ñ 18 ]	 [ ·é¤Ü ×éç¼ýÌ ÂëcÆUô´ ·¤è â¢BØæ Ñ 11
Total No. of Questions : 18 ]	 [ Total No. of Printed Pages : 11

S-221200–A

çßáØ Ñ çß™ææÙ
Subject : Science

â×Ø Ñ 3 ƒæ‡ÅðU ]	 [ Âê‡ææZ·¤ Ñ 75
Time : 3 hours ]	 [ Maximum Marks : 75

ÙôÅU Ñ âÖè ÂýàÙ ãUÜ ·¤èçÁ°Ð
Note : Attempt all questions.
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ÂýàÙ-v	 (¹‡ÇU-¥)  âãUè çß·¤ËÂ ¿éÙ·¤ÚU çÜç¹° Ñ			   [1×5=5]
	 (Section-A)  Choose and write the correct option :

	 (i)	 ·¤æ¡¿ ·¤æ ¥ÂßÌüÙæ¢·¤ ãUôÌæ ãñU Ñ

		  (¥)	 1.50

		  (Õ)	 2.82

		  (â)	 2.42

		  (Î)	 2.89

		  Refractive index of glass is :

		  (a)	 1.50

		  (b)	 2.82

		  (c)	 2.42

		  (d)	 2.89

		  (iii) 	ÂýàÙ ·ý¤×æ¢·¤ | âð v® Ì·¤ Üƒæé©UîæÚUèØ ÂýàÙ ãñ´UÐ ÂýˆØð·¤ ÂýàÙ ÂÚU x ¥¢·¤ ¥æÕ¢çÅUÌ ãñ´UÐ 

(ÂýˆØð·¤ ©UîæÚU ·¤è ¥çÏ·¤Ì× àæµÎ-âè×æ z® àæµÎ ãñU)

		  	 Question Nos. 7 to 10 are short answer type questions. Each question 

carries 3 marks. (Maximum word-limit of each answer is 50 words)

		  (iv) 	 ÂýàÙ ·ý¤×æ¢·¤ vv âð vy Ì·¤ Üƒæé©UîæÚUèØ ÂýàÙ ãñ´UÐ ÂýˆØð·¤ ÂýàÙ ÂÚU y ¥¢·¤ ¥æÕ¢çÅUÌ 

ãñ´UÐ (ÂýˆØð·¤ ©UîæÚU ·¤è ¥çÏ·¤Ì× àæµÎ-âè×æ |z àæµÎ ãñU)

			   Question Nos. 11 to 14 are short answer type questions. Each question 

carries 4 marks. (Maximum word-limit of each answer is 75 words)

		  (v) 	 ÂýàÙ ·ý¤×æ¢·¤ vz °ß¢ v{ Îèƒæü©UîæÚUèØ ÂýàÙ ãñ´UÐ ÂýˆØð·¤ ÂýàÙ ÂÚU z ¥¢·¤ ¥æÕ¢çÅUÌ ãñ´UÐ 

(ÂýˆØð·¤ ©UîæÚU ·¤è ¥çÏ·¤Ì× àæµÎ-âè×æ v®® àæµÎ ãñU)

			   Question Nos. 15 and 16 are long answer type questions. Each question 

carries 5 marks. (Maximum word-limit of each answer is 100 words)

		  (vi) 	 ÂýàÙ ·ý¤×æ¢·¤ v| °ß¢ v} Îèƒæü©UîæÚUèØ ÂýàÙ ãñ´UÐ ÂýˆØð·¤ ÂýàÙ ÂÚU { ¥¢·¤ ¥æÕ¢çÅUÌ ãñ´UÐ 

(ÂýˆØð·¤ ©UîæÚU ·¤è ¥çÏ·¤Ì× àæµÎ-âè×æ vz® àæµÎ ãñU)

			   Question Nos. 17 and 18 are long answer type questions. Each question 

carries 6 marks. (Maximum word-limit of each answer is 150 words)
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	 (ii)	 ç·¤â Üß‡æ ·¤è Âý·ë¤çÌ ¥`ÜèØ ãUôÌè ãñU?

		  (¥)	 NaCl	 (Õ)	 Na2SO4

		  (â)	 KNO3	 (Î)	 NH4Cl

		  Which of the following salts is acidic in nature?

		  (a)	 NaCl	 (b)	 Na2SO4

		  (c)	 KNO3	 (d)	 NH4Cl

	 (iii)	 ç·¤âè Õ»è¿ð ·ð¤ Áèßô´ ·¤è »‡æÙæ ×ð´ zz{| ƒææâ ·ð¤ ÂõÏð, yzx ÛææçÇ¸UØæ¡, wx ÂðÇ¸U 

°ß¢ ||{~ Á‹Ìé Âæ° »°Ð §â Õ»è¿ð ×ð´ ·é¤Ü ÂýæÍç×·¤ ©UˆÂæÎÙ ãUô»æ Ñ

		  (¥)	Õ»è¿ð ·ð¤ â×SÌ Áèßô´ ·¤æ âç`×çÜÌ ÁèßÖæÚU

		  (Õ)	 Õ»è¿ð ·ð¤ â×SÌ ßÙSÂçÌØô´ ·¤æ âç`×çÜÌ ÁèßÖæÚU

		  (â)	 Õ»è¿ð ·ð¤ â×SÌ Á‹Ìé¥ô´ ·¤æ âç`×çÜÌ ÁèßÖæÚU

		  (Î)	 ·ð¤ßÜ ƒææâ ·ð¤ ÂõÏô´ ·¤æ âç`×çÜÌ ÁèßÖæÚU

		  The number of organisms in a garden were estimated as 5567 

grasses, 453 shrubs, 23 trees and 7769 animals. The primary 

productivity of this area will be nearly equal to :

		  (a)	 biomass of all organisms of the garden

		  (b)	 biomass of all the plants of the garden

		  (c)	 biomass of all the animals of the garden

		  (d)	 biomass of only all the grasses

	 (iv)	 ©UÂÏæÌé ãñU Ñ

		  (¥)	 He	 (Õ)	 As

		  (â)	 Mg	 (Î)	 Ag

		  Metalloid is :

		  (a)	 He	 (b)	 As

		  (c)	 Mg	 (d)	 Ag
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	 (v)	 Áèßæà× §ZÏÙ ãñ´U Ñ

		  (¥)	 ·¤ôØÜæ, ÂðÅþUôçÜØ×, Âýæ·ë¤çÌ·¤ »ñâ

		  (Õ)	 ÕæØô»ñâ, ÌÚ¢U» ª¤Áæü, ÙæçÖ·¤èØ ª¤Áæü

		  (â)	 …ßæÚUèØ ª¤Áæü, ÂÙ-çÕÁÜè ª¤Áæü

		  (Î)	 ÂßÙ ª¤Áæü, Öê-ÌæÂèØ ª¤Áæü

		  Fossil fuels are :

		  (a)	 coal, petroleum, natural gas

		  (b)	 biogas, wave energy, nuclear energy

		  (c)	 tidal energy, hydel-power energy

		  (d)	 wind energy, geothermal energy

ÂýàÙ-v	 (¹‡ÇU-Õ)  çÚU@Ì SÍæÙô´ ·¤è ÂêçÌü ·¤èçÁ° Ñ			   [1×5=5]

	 (Section-B)  Fill in the blanks :

	 (i)	 ×ðÍðÙô§·¤ ¥`Ü ·¤æ ÚUæâæØçÙ·¤ âê˜æ ——— ãUôÌæ ãñUÐ

		  The chemical formula of methanoic acid is _____.

	 (ii)	 çßléÌ ÏæÚUæ ·¤æ SI ×æ˜æ·¤ ——— ãUôÌæ ãñUÐ

		  SI unit of electric current is ____.

	 (iii)	 ——— mæÚUæ dæçßÌ ãUôÙð ßæÜð °‹Áæ§× °×æ§ÜðÁ, çÅþUçŒâÙ ¥õÚU Üæ§ÂðÁ ãñ´UÐ

		  Enzymes amylase, trypsin and lipase are secreted by ____.

	 (iv)	 ——— Ìˆß ·¤æ ¥æßÌü âæÚU‡æè ×ð´ SÍæÙ ¥çÙçà¿Ì ãñUÐ

		  The position of ____ element is uncertain in periodic table.

	 (v)	 ¹æl oë¢¹Üæ ×ð´ ©UˆÂæÎ·¤ ·ð¤ ¥Üæßæ âÖè Áèß ——— ãñ´UÐ

		  All organisms in the food chain are ____ except the producer.
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ÂýàÙ-v	 (¹‡ÇU-â)  ©Uç¿Ì â`Õ‹Ï ÁôçÇ¸U° Ñ			   [1×5=5]

		        (·¤)		     (¹)

	 (i)	 RNA		 -	 (a) 	 âæ§çÅþU·¤ ¥`Ü

	 (ii)	 ©UîæÜ ÎÂü‡æ¤	 -	 (b) 	 ØêÚðUçâÜ

	 (iii)	 Ùè´Õê		  -	 (c) 	 Fe3O4

	 (iv)	 ª¤c×æ ·¤æ SI ×æ˜æ·¤	 -	 (d) 	 ·¤æÚU

	 (v)	 ×ñ‚ÙðÅUæ§ÅU	 -	 (e) 	 ÁêÜ

	 (Section-C)  Match the following :

		              (A)		                (B)

	 (i)	 RNA		 –	 (a) 	 Citric acid

	 (ii)	 Convex mirror	 –	 (b) 	 Uracil

	 (iii)	 Lemon	 –	 (c) 	 Fe3O4

	 (iv)	 SI unit of heat	 –	 (d) 	 Car
	 (v)	 Magnetite	 –	 (e) 	 Joule

ÂýàÙ-w	 ¥æßÌü âæÚU‡æè ·ð¤ ç·¤âè ¥æßÌü ×ð´ ÂÚU×æ‡æé ç˜æ…Øæ ç·¤â Âý·¤æÚU ÂçÚUßçÌüÌ ãUôÌè ãñU?	 [2]

	 How does the atomic radius change in a period of periodic table?

ÂýàÙ-x	 ÂæçÚUçSÍçÌ·¤ Ì¢˜æ ç·¤âð ·¤ãUÌð ãñ´U?			    [2]

	 What is called Eco-system?

ÂýàÙ-y	 çÙ`Ù ·¤æÕüçÙ·¤ Øõç»·¤ô´ ×ð´ ç·ý¤Øæˆ×·¤ â×êãU ÂãU¿æÙ·¤ÚU çÜç¹° Ñ	 [2]

		  CH3COOH, C4H9Br

	 Identify and write the functional group from the following organic 
compounds :

		  CH3COOH, C4H9Br

ÂýàÙ-z	 ª¤c×æÚUôÏè ÂÎæÍü @Øæ ãñU?			   [2]

	 What is thermal insulator material?
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ÂýàÙ-{	 ÂÚUæ»‡æ ç·¤âð ·¤ãUÌð ãñ´U?			   [2]

	 What is called pollination?

ÂýàÙ-|	 È¤æòÚðUÙãUæ§ÅU Âñ×æÙæ ßæÜð Í×æü×èÅUÚU ×ð´ ‹ØêÙÌ× ß ¥çÏ·¤Ì× ÌæÂ ·¤ô ç¿˜æ mæÚUæ ÂýÎçàæüÌ 

·¤èçÁ°Ð				    [1+1+1=3]

	 ÙôÅU Ñ		 ÎëçcÅU ÕæçÏÌ çßlæÍèü ç¿˜æ ·ð¤ SÍæÙ ÂÚU È¤æòÚðUÙãUæ§ÅU Âñ×æÙð ·ð¤ ©U“æÌ×  

		  ß ‹ØêÙÌ× ÌæÂ ·ð¤ ×æÙ ß ©Uâ·¤æ °·¤ ©UÂØô» çÜ¹ð´»ðÐ

	 Draw a diagram of Fahrenheit scale thermometer by showing lowest 
and highest temperature on it.

	 Note :	 Visually impaired students will write the lowest and  
		  highest value of temperature and one use of Fahrenheit  
		  scale thermometer in place of diagram.

ÂýàÙ-}	 ×ÙécØ ×ð´ çÜ¢» çÙÏæüÚU‡æ ·¤è Âýç·ý¤Øæ ç·¤â Âý·¤æÚU ãUôÌè ãñU? â×Ûææ§°Ð	 [3]

	 How does the process of sex determination take place in human? 
Explain.

ÂýàÙ-~	 Âý·¤æàæ, ßæØé âð v.z® ¥ÂßÌüÙæ¢·¤ ßæÜð ·¤æ¡¿ ·ð¤ ŒÜðÅU ×ð´ Âýßðàæ ·¤ÚUÌæ ãñUÐ ·¤æ¡¿ ×ð´ Âý·¤æàæ 

·¤è ¿æÜ ™ææÌ ·¤èçÁ°Ð			   [3]

	 Light enters from air to glass plate having 1.50 refractive index. Find 
the speed of light in glass.

ÂýàÙ-v®	 çßléÌ ÂçÚUÂÍ âð â¢Õ¢çÏÌ çÙ`Ù ƒæÅU·¤ô´ ·ð¤ â¢·ð¤Ì ç¿qïU ÕÙæ§° Ñ	 [1×3=3]

	 (i)	 ßôËÅU×èÅUÚU

	 (ii)	 â¢çÏ ÌæÚU

	 (iii)	 ÂýçÌÚUôÏ

	 Draw the symbols of the following components related to electric circuit :

	 (i)	 Voltmeter

	 (ii)	 Junction wire

	 (iii)	 Resistance
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ÂýàÙ-vv	 ÂýÖæßè ß ¥ÂýÖæßè Üÿæ‡æ @Øæ ãñ´U? ©UÎæãUÚU‡æ Îð·¤ÚU SÂcÅU ·¤èçÁ°Ð	 [2+2=4]

	 What are dominant and recessive characters? Explain with example.

¥Íßæ 

OR

	 ¥Ùé·ê¤ÜÙ ß Áèßæà× @Øæ ãñ´U? ©UÎæãUÚU‡æ Îð·¤ÚU SÂcÅU ·¤èçÁ°Ð

	 What are adaptation and fossil? Explain with example.

ÂýàÙ-vw	 çßÚ¢UÁ·¤ ¿ê‡æü ·¤æ ÚUæâæØçÙ·¤ Ùæ× ÌÍæ âê˜æ çÜ¹·¤ÚU ©Uâ·ð¤ ·¤ô§ü Îô ©UÂØô» çÜç¹°Ð	 [2+2=4]

	 Write the chemical name and formula of bleaching powder and any 

two uses of it.

¥Íßæ 

OR

	 °çÍÜ °Ë·¤ôãUæòÜ ·¤æ IUPAC Ùæ× ÌÍæ âê˜æ çÜ¹·¤ÚU ©Uâ·ð¤ ·¤ô§ü Îô ©UÂØô» çÜç¹°Ð

	 Write the IUPAC name and formula of ethyl alcohol and any two 

uses of it.

ÂýàÙ-vx	 ÂõÏô´ ×ð´ Âæ° ÁæÙð ßæÜð Îô â¢ßãUÙ ª¤Ì·¤ô´ ·ð¤ Ùæ× ß ©UÙ·¤æ °·¤-°·¤ ·¤æØü çÜç¹°Ð	 [2+2=4]

	 Write the names of two vascular tissues found in plants and write one 

function of each. 

¥Íßæ 

OR

	 ŒÜðâð‡ÅUæ ç·¤âð ·¤ãUÌð ãñ´U? §Ù·ð¤ Îô ·¤æØü çÜç¹°Ð 	

	 What is placenta? Write its two functions.
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ÂýàÙ-vy	 °·¤ Ìˆß ·¤æ ÂÚU×æ‡æé ·ý¤×æ¢·¤ vv ãñU Ñ			   [1×4=4]

	 (¥)	 §â Ìˆß ·¤ô ÂãU¿æÙ·¤ÚU Ùæ× çÜç¹°Ð

	 (Õ)	 ¥æÏéçÙ·¤ ¥æßÌü âæÚU‡æè ×ð´ §â Ìˆß ·¤è â×êãU â¢BØæ çÜç¹°Ð

	 (â)	 ¥æÏéçÙ·¤ ¥æßÌü âæÚU‡æè ×ð´ §â Ìˆß ·¤æ ¥æßÌü çÜç¹°Ð

	 (Î)	 §â Ìˆß ·¤æ §Üð@ÅþUæòçÙ·¤ çß‹Øæâ çÜç¹°Ð			 

	 Atomic number of an element is 11 :

	 (a)	 Identify and write name of this element.

	 (b)	 Write the group number of this element in modern periodic table.

	 (c)	 Write the period of this element in modern periodic table.

	 (d)	 Write electronic configuration of this element.

¥Íßæ 

OR

	 âôÙæÿæè Ùð ÁÕ ¿æÚU çßÜØÙ P, Q, R, S ·¤è âæßüç˜æ·¤ âê¿·¤ âð Áæ¡¿ ·¤è ÌÕ pH 

·ý¤×àæÑ 13, 7, 2, 8 ÂýæŒÌ ãéU°Ð §â ¥æÏæÚU ÂÚU ÕÌæ§° ç·¤ ·¤õÙ-âæ çßÜØÙ—	

	 (i)	 ÂýÕÜ ¥`ÜèØ ãñU

	 (ii)	 ©UÎæâèÙ ãñU

	 (iii)	 ÎéÕüÜ ÿææÚUèØ ãñU

	 (iv)	 ÂýÕÜ ÿææÚUèØ ãñU

	 Sonakshi tested P, Q, R, S four solutions from universal indicator 

and found pH values 13, 7, 2, 8 respectively. On this basis, tell about 

the solution which one is–

	 (i)	 strong acid

	 (ii)	 neutral

	 (iii)	 weak alkali

	 (iv)	 strong alkali
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ÂýàÙ-vz	 (¥)	¿é`Õ·¤ ·ð¤ ·¤ô§ü ÌèÙ »é‡æ çÜç¹°Ð

	 (Õ)	 çßléÌ ×ôÅUÚU ß çßléÌ ÁçÙ˜æ ×ð´ ·¤ô§ü Îô ¥‹ÌÚU çÜç¹°Ð	 [3+2=5]

	 (a)	 Write any three properties of magnet.

	 (b)	 Write any two differences between electric motor and electric 

	 generator.

¥Íßæ 

OR

	 (¥)	 çßléÌ ©UÂ·¤ÚU‡æ ·ð¤ âéÚUçÿæÌ ©UÂØô» ãðUÌé ·¤ô§ü ÌèÙ âæßÏæçÙØæ¡ çÜç¹°Ð

 	 (Õ)	 ÂýˆØæßÌèü ÏæÚUæ ß çÎcÅU ÏæÚUæ ×ð´ ·¤ô§ü Îô ¥‹ÌÚU çÜç¹°Ð

	 (a)	 Write any three safety measures while using electrical 

	 appliances.

	 (b)	 Write any two differences between alternating current and 

	 direct current.

ÂýàÙ-v{	 (¥)	 »ôÜèØ ÎÂü‡æ ç·¤âð ·¤ãUÌð ãñ´U? §â·ð¤ Âý·¤æÚU çÜç¹°Ð

	 (Õ)	 ÎÂü‡æ ·¤è È¤ô·¤â ÎêÚUè ·¤ô ÂçÚUÖæçáÌ ·¤èçÁ°Ð		  [2+1+2=5]

	 (a)	 What is called spherical mirror? Write its types.

	 (b)	 Define focal length of mirror.

¥Íßæ 

OR

	 (¥)	¥ÂßÌüÙæ¢·¤ ç·¤âð ·¤ãUÌð ãñ´U? §â·¤æ âê˜æ çÜç¹°Ð

	 (Õ)	 Âý·¤æàæ ·ð¤ ¥ÂßÌüÙ ·¤ô ÂçÚUÖæçáÌ ·¤èçÁ°Ð

	 (a)	 What is called refractive index? Write its formula.

	 (b)	 Define refraction of light.
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ÂýàÙ-v|	 (¥)	 »ÖüßÌè ×çãUÜæ¥ô´ ·ð¤ SßæS‰Ø ·ð¤ çÜ° ç·¤Ù-ç·¤Ù ÕæÌô´ ·¤æ ŠØæÙ ÚU¹æ ÁæÙæ  

	 ¿æçãU° (·¤ô§ü Îô)?

	 (Õ)	 NUÎØ ·¤æ Sß‘ÀU ç¿˜æ ÕÙæ§° ÌÍæ ç·¤‹ãUè´ ¿æÚU Öæ»ô´ ·¤ô Ùæ×æ¢ç·¤Ì ·¤èçÁ°Ð	 [2+4=6]

	 ÙôÅU Ñ		 ÎëçcÅU ÕæçÏÌ çßlæÍèü ç¿˜æ ·ð¤ SÍæÙ ÂÚU NUÎØ ·ð¤ çßçÖ‹Ù Öæ»ô´ ·¤æ 
		  ß‡æüÙ ·¤Úð´U»ðÐ

	 (a)	 What are the different aspects that need to take care of, for the  
	 health of pregnant women (any two)?

	 (b)	 Draw a neat and clean diagram of heart and label any four parts 
	 of it.

	 Note :	 Visually impaired students will describe different parts of  
		  heart in place of the diagram.

¥Íßæ 
OR

	 (¥)	¥æò@âèÁÙ ·¤è ©UÂçSÍçÌ ß ¥ÙéÂçSÍçÌ ×ð´ ãUôÙð ßæÜè àßâÙ ·¤è Âýç·ý¤Øæ¥ô´ 

	 ×ð´ ¥‹ÌÚU SÂcÅU ·¤èçÁ° (·¤ô§ü Îô)Ð

	 (Õ)	 Ì¢ç˜æ·¤æ ·¤ôçàæ·¤æ ·¤æ Sß‘ÀU ç¿˜æ ÕÙæ§° ÌÍæ ç·¤‹ãUè´ ¿æÚU Öæ»ô´ ·¤ô Ùæ×æ¢ç·¤Ì 

	 ·¤èçÁ°Ð

	 ÙôÅU Ñ		 ÎëçcÅU ÕæçÏÌ çßlæÍèü ç¿˜æ ·ð¤ SÍæÙ ÂÚU Ì¢ç˜æ·¤æ ·¤ôçàæ·¤æ ·ð¤ çßçÖ‹Ù  
		  Öæ»ô´ ·¤æ ß‡æüÙ ·¤Úð´U»ðÐ

	 (a)	 Differentiate between processes of respiration in the presence  
	 and absence of oxygen (any two).

	 (b)	 Draw neat and clean diagram of nerve cell and label any four 
	 parts of it.

	 Note : 	 Visually impaired students describe the different parts of  
		  nerve cell in place of diagram.
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ÂýàÙ-v}	 (¥)	ÏæÌé ß ¥ÏæÌé ×ð´ ÖõçÌ·¤ »é‡æô´ ·ð¤ ¥æÏæÚU ÂÚU ÌèÙ ¥‹ÌÚU çÜç¹°Ð

	 (Õ)	 â¢ÿææÚU‡æ ç·¤âð ·¤ãUÌð ãñ´U? â¢ÿææÚU‡æ âð Õ¿æß ·ð¤ ·¤ô§ü Îô ©UÂæØ çÜç¹°Ð	 [3+3=6]

	 (a)	 Write three differences between metal and non-metal on the  

	 basis of physical properties.

	 (b)	 What is Corrosion? Write any two methods to prevent corrosion.

¥Íßæ 

OR

	 (¥)	¹çÙÁ ß ¥ØS·¤ ×ð´ ÌèÙ ¥‹ÌÚU çÜç¹°Ð

	 (Õ)	 âç·ý¤ØÌæ Ÿæð‡æè ·¤è ÂçÚUÖæáæ çÜ¹·¤ÚU °·¤ âßæüçÏ·¤ âç·ý¤Ø °ß¢ °·¤ âÕâð ·¤×  

	 âç·ý¤Ø ÏæÌé ·¤æ Ùæ× çÜç¹°Ð

	 (a)	 Write three differences between mineral and ore.

	 (b)	 Define Activity Series and write the name of one most reactive  

	 and one least reactive metal.
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